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Game #5 Trig

1. Write the tangent ratios for ZP and £Q.
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2. Write the ratios for sin 4 and cos 4.
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4. Write the ratios for sin X and cos X.
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Use a trigonometric ratio to find the value of x. Round your answer to the nearest tenth.
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7. A slide 4.1 meters long makes an angle of 35° with the ground. To the nearest tenth of a meter, how far above
the ground is the top of the slide?

A 71m B. 34m C. 50m @-4m

8. The students in Mr. Collin’s class used a surveyor’s measuring device to find the angle from their location tc
the top of a building. They also measured their distance from the bottom of the building. The diagram shows
the angle measure and the distance. To the nearest foot, find the height of the building.
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9. Find the missing value to the nearest hundredth
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Find the missing value to the nearest hundredth.l
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Find the value of x to the nearest degree.
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To find the height of a pole, a surveyor moves 140 feet away from the base of the pole and then, with a
transit 4 feet tall, measures the angle of elevation to the top of the pole to be 44°. To the nearest foot, what

the height of the pole?
A 145t B. 149 ft C. 135ft @ 139 ft

To approach the runway, a pilot of a small plane must begin a 10° descent starting from a height of 1983 fe:
above the ground. To the nearest tenth of a mile, how many miles from the runway is the airplane at the stas

of this approach?
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Find the angle of elevation of the sun from the ground when a tree that is 10 yards tall casts a shadow 14

yards long. Round to the nearest degree.
A 54° & 36° C. 46° D. 44°
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16. A spotlight is mounted on a wall 7.4 feet above a security desk in an office building. It is used to light an
entrance door 9.3 feet from the desk. To the nearest degree, what is the angle of depression from the spotlight
to the entrance door?
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Find the length of the missing side. The triangle is not drawn to scale.
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20. Wayne used the diagram to compute the distance from Ferris, to Dunlap, to Butte. How much shorter is the
distance directly from Ferris to Butte than the distance Wayne found?
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